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Stage 3 - Set 4 Answers: Application of Le Chatelier’s Principle 
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 b) i) decrease 
  ii) increase 
  iii) increase 
  iv) no change 
 

2. a) 
][C

][H][OCK
2

42



 +−

=  

 b) i) increase 
  ii) increase 
  iii) increase 
  iv) decrease 
 
3. a) i) decrease 
  ii) decrease 
  iii) increase 
 b) i) decrease 
  ii) increase 
  iii) increase 
 
4. a) i) increase 
  ii) increase 
  iii) decrease 
 b) i) increase 
  ii) increase 
  iii) increase 
 
5. a) i) increase 
  ii) decrease 
  iii) decrease 
 b) i) no change 
  ii) no change 
  iii) increase 
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